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Question 1 [37 marks]

Without using a calculator.
1.1 Simplify the followings:

a) 943,
b) (1 + —9) 2 leave your answer in the form a + bi

VI VT
2Va3 — z\/x
1.2 Find the value of z and y if, 2i = zi(2 — 3i) — y(5 — 37)

c)

1.3 Solve the following equations:

a) 10¥ x 522 x 4v~1 =1
b) logz(28 — 3%) = 2l082(3-2)

c) 25 —23—6=0

Question 2 [38 marks]

2.1) Find the value(s) of A for which Az? + 2z + 1 has a real and distinct roots.

2.2) Solve the inequalities:
a) lt+5—z<5
b) logy (92 —4) < logy (222)
2.3) Given the geometric series: 822 + 43 + 2z + ...

a) Determine the nt* term of the series.

b) What value(s) of z will the series converge?

c) Calculate the sum of the series to infinity if z = %

2000
Z 2000 (_2)2000—k
k

k=0

2.4) Without expanding, evaluate

2.5) Solve: ! + = =2 and 8.2 = by elimination method.
r y 2 z y 4

Question 3 [25 marks]

1\ 20
3.1) Find the coefficient of 22 in the expansion of (.L - E)
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3.2) Decompose into its partial fractions.

B s
z(22% — )

2 =
3.3) Show that Ll :C, e - cot 2z
2sinx

3.4) Solve the following trigonometric equations

2cosz—1=0
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